
Periode 1:

Periodenergebnis 660              

ø Eigenkapital 6.350           

ø Gesamtkapital 31.360         

Umsatz 29.920         

100 = Spitzenkennzahl

102 = Kennzahl

200 = Hilfskennzahl
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Periode 1:

Periodenergebnis 1.500           

ø Eigenkapital 6.800           

ø Gesamtkapital 35.205         

Umsatz 36.850         

100 = Spitzenkennzahl

102 = Kennzahl

200 = Hilfskennzahl
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Periode 1:

Periodenergebnis 2.100           

ø Eigenkapital 7.525           

ø Gesamtkapital 40.500         

Umsatz 49.700         

100 = Spitzenkennzahl

102 = Kennzahl

200 = Hilfskennzahl
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